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حيحالص 
None of the 3 radicals is الواو or ُالياء 

صاقلُ النعالف 
The incomplete (or deficient) verb. 

It can not have فاعل , instead it has its’ اسم and برخ  
(  i.e.   كانَ وأَخوات كانَ ( 

مالالس (sound) 

1) It does not have ٌةزمه. 
2) The 2nd and 3rd radicals are 
not identical. 

 

وزمهالْم 
1) Has ٌةزمه in any of 3 

radicals. 
2) The 2nd and 3rd radicals are 
not identical. 

فعضالْم 
1) The 2nd and 3rd radicals 
are identical. 

 2) Has no ٌةزمه in any of 3 

radicals 

i.e.       ججح =جح  
 ددع =دع  

 مهموز الفاءِ
) أْكُلُي: أَكَلَ(  

 مهموز العينِ
) يسأَلُ:سأَلَ (  

املُ التعالف 
The complete verb. It has فاعل and/or فعول بهم 

* Intransitive verb has only فعل and فَاعل   
* Transitive verb has مفعول به +  فاعل +  فعل 

 (Weak Verbs)  الْمعتلُّ

One of the 3 radicals is either الواو or ُالياء 
 

 وزمهم
 اللامِ

) يقْرأُ:قَرأَ (  

 معتلُّ الفاءِ
)مثالُالْ(  
) دجو:جِدي (  

 معتلُّ العينِِ
)فوالأَج(  
) يقُولُ:قَالَ (  

 معتلُّ اللاَّمِ
)صاقالن(  
) يمشي:مشى (  
) يدعو:دعا (  

* If the 1st and 3rd radicals are both weak, it is called وقفْرالْم فياللَّف ( يققَى:يو ) 
* If the 2nd and 3rd radicals are both weak, it is called ُُونقْْرالْم فيكْوِي  اللَّفى:يكَو )
( 

The Verb - ُلعالف 


